Manua Hvac_ Simply version 6.00
Thisisan indication of the main types of blocks that lets you build together to a model.

o) Source t/rv/p block: mr= 1045 i -

' Mumb | Type Parameter | Parameter| Calculate | Comment

E T 20 -40<=T<=100 Temperature
i2 % RY &0 <=RV==100 Relateve Humdit
13 Abs Humidity 7.3 Absolute Humidity
4 mBar 1013 T80<=P<=1050 Air Pressure
4] kJoule o4 Enthalpy
i kgfsec 1 Flow

Delete Block 2

Block Source you can set different parameters.
The flow can be set. Everything under Title Type Parameter allows you to set temperature,% RH, Pressure

and Flow. everything under Calculate calculated automatically.
The block has no input output only.
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sl Cooling block: nr= 1992 oo e
i Mumb | Type Parameter | Parameter | Calculate | Comment

» 1 Cooling = -5 Cooling
|2 B E 15 Temperature
[> % RV 62,6 Relative Humidity
|4 Abs Vocht 73 Shsolute Humidity
|5 mBar 1013 &ir Pressure

I |6 kjoule 333 Enthalpy

I |7 kgisec 1 Flow

FLO I.lJ.—C »

Block Parameter Cooling Cool that you can set how many degrees
theair cooled to be.

Calculate everything is calculated automatically.

The block has 1 input and 1 output



[ gl Heater block: nr= 2024 l —= | L=F |ﬂh_r
MNumb | Type Parameter | Parameter | Calculate | Comment
» 1 Hesting = 10 Hesting
2 T 30 Temperature
3 % RV 275 Relatieve Humidity
|4 Abs \ocht 7.3 Absclute Humidity
B mBar 1013 Air Pressure
& kjouls 485 Enthalpy
T Kaolsec 1 Flow
_‘i&_ 7 - HEAT 7 v
TE
[ Delete Block | Bl L El [ok |
1515 P
L 2]

Block Parameter Heating Heat which you can set how many degrees the air must be heated
the air must be heated be.

Calculate everything is calculated automatically.

The block has one input and one output.

|7 N
g5 Humidifier with water block nr= 2056 ="l =
Numb | Type Parameter | Parameter | Calculate | Comment
» 1 a'kg = 2 Humadifier with water
2 T 14, 86304 Temperature
3 % RV 879 Relatieve Humidity
4 Abs Vocht 93 Ab=olute Humidity
5 mBar 1013 Air Pressure
& kjoule 382 Enthalpy
F kaglzec i Flow
Delete Block | i [ oK |
- =

Block Humidifier allows you to Parameter g/ kg = can set how many grams of water per kg air humidified air
should be come. In this example you can see that the temperature drops from 25 degreesto 19.8 "C by
extracting vapour heat absolute humidity increases from 7.3 to 9.3 and from 36.9% RH

to 64.3. Enthalpy of the air remains the same.

Calculate everything is calculated automatically.

The block has one input and one outpuit.
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r
o2l Humidifier with Steam block nr= 2088
Mumb | Type Farameter | Marameter
» |1 o'kg = 2
Fur 2 T
I |3 %Ry
|4 AbaVocht
|5 mBar
L |6 kjoule
I |7 kgisec
*
Delete Block Euly
AR
L5
|

| Calculate

| Comment |
Humidifier with steam
Temperature

Relatieve Humidity
Abaolute Homidity

Air Pressure

Enthalpy

Flow

(o ]

-

TR

445

Block Humidifier allows you to Parameter g/ kg = can set how many grams of water per kg air humidified air
should worden.In this example you can see that the temperature drops from 25 degreesto 19.8 "C by
extracting vapour heat. The absolute humidity increases from 7.3 to 9.3 and from 36.9% RH

to 64.3. Enthalpy of the air remains the same.

Calculate everything is calculated automatically.

The block has one input and one outpuit.
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gl Fan nr= 2140 | S S

| Mumb | Type Parameter | Parameter | Calculate Comment
[ 3 : 1 mBar = 10 Aur Pressure raised wit

|1 *% Rendement = 60 Rendement
|3 KW 1.358889 Kaw Electric Calculate

| |4 T 20 Temperature
55 w RW L Relatieve Humadity
EE Abs Vacht 73 Absolute Humidity
|7 mBar 1023 Air Pressure
|8 kjoule 324 Enthalpy
|o kglsec 1 Flow

E

LB

Fan unit with which you can set with Parameter = mBar how the pressure isincreased
In this example you can see that the air pressure isincreased from 1013 to 1023 mBar.

Everything under Calculate automatically calculated. Through change air pressure also changes
%R.V alittle. Look under calculate kw automatic calculate Power needed for the Fan: 1.38 kW.

The block has one input and one output.
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Examples source 1944 for flow (4 kg / sec) 20'C is mixed with 1945 source flow (1 kg / sec) 10'C

o I
e

V]

Setting Parameter Mixer% = 100%.
This means 100% of source 1944 is = 4kg/sec source is mixed with 1945 (1 kg / sec)
Outcome 4kg/sec + 1kg/sec is 5 kg / sec. The temperature is now 18'C

Block Split Air Valve

ST
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E D 4%als
0.8=kgis
T : 06 08kals
;—}}é Késﬁ o
Zas 488

Valve= 100 %%
T=318"C

RV= 513 %%

Abs= 6,6 g/kg
P=1012 mEBar
h= 346 kl

> Flow= 4 kg/sec
Flow= 5 kg/sec >
Flow= 1 kg/sec ™
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Applying Heatpump air

It consists of 3 parts evap (evaporator) heat pump (heat pump) and condenser.

They always have to be in afixed manner connected with each other are shown in the following example.
The blocks:

Heat pump COP,: Coefficient of performence

Heat pump> E.kW: information supplied electrical energy

Heat pump Cool> kw: Evaporator cooling capacity

Heat pump Cond> kw: added heat Condenser

20°C = m & 26,1°C = ks b T
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Applying Heatpump Air > Water

It consists of 3 parts evap (evaporator) heat pump (heat pump) and condenser.

They always have to be in afixed manner connected with each other are shown in the following example.
The blocks:

heatpump COP,: Coefficient of performence

heatpump> E.kW: information supplied electrical energy
heatpump Cool> kw: Evaporator cooling capacity
heatpump Cond> kw: added heat to Water Condenser
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Heat Regeneration Air

Examples source 1944 20'C source 1945 10'C

Setting Parameter Profit% = 40

This can be Twincoil,Heatwheel,Crossflow etc

The block has two input and two output.

W
[
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Heat Regeneration Water

Examples source 1460 1kg 20'C

Source 1461 2 kg 10'C  <br>

Setting Parameter Profit% = 80%

This can be ,Crossflow etc

The block has two input and two output.

| WTW= 40 %

AT=187C
A“RV=384%

~ Abs= 38 g/kg
A P= 1013 mBar
Ah=2361

* Flow= 1 kg/sec
=T=16"°C

> RV=643 %

= Abs= 7.2 g/kg
> P= 1013 mBar
>h=343 I

| = Flow=1 kg/sec
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Numb | Type Parameter | Parameter | Calculate | Comment
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Tabel 3input x 3 output y

Examples

To make aweather-dependent control  Outside temp=4'C
Input tabel 4 then output 62

From this arithmetic block aline to Source with input Temp
Y ou have now a compleet heating system

Alsoisatable block with 21 inputs and 21 outputs



= g

o) weather block: nr= 2736
Hour | ind m's | Temperature | %Ry | Calculate Abs| Air Pressure »
e 4 -10 B0 0.81 1001
2 4 -3 i 0.5 1002
3 4 -3 " 1.19 1003
|4 4 -4 53 1.44 104
_IE- 4 -2 B4 1,74 1005
s 4 i 55 209 1006
_!? 4 2 b6 245 1007
|8 5 4 57 287 1008
9 5 g L] 336 1009
10 6 g B9 352 100
11 6 10 &0 457 1011
| 6 12 6 h.3 1mz E
_I‘IE 7 4 G2 6.15 1013
_i‘l-i F 1% 1] 7.1 1014
__!15 Fi 18 64 82 1015
— [18 9 20 65 9,45 1016
7 9 2 66 1086 1m7
12 5 24 67 1246 1018
19 4 26 68 1428 1019
| 4 28 69 1633 1020
_I2'| 3 0 70 1865 1021
_i22 3 12 7 2126 1022
__!23 3 M 72 2421 1023 L
|4 3 % 73 2753 1024
*— -
€ | m | ’
Windspezd : Air Temp Bir L BV - Air Abs Hum Air PressLre :
Lowest -3 Lowest :-10 Lowegt 50  Lowes: : Lowesttt 1001
Highest 3 Hichest :36 Highest 73 Hignest - Hichest 1024
Averzge 5 Average 13 fverage 61 Average 8,53 Average 10125
ko ol B oAb §sav
i + Tl o Y
“te Bleck _ : 2 i eRE Ry, | 5Ok Ok

Weather 24 Hour Simulation

Examples

To make a weather-depending systeem for different condition

From time > Hour then input wheather Block

From this arithmetic block aline to Source with input Weather

Y ou have now a compleet simulation system

That you use asinput for Air Connditioing Installation

Made with 4 blocksin ajust a minute !
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. _
sl Source All block: nr= 3300 ol B S
e

|
Hour |Flow kg/Sec | Temperature % By | Calcula’teﬁ.hs| Pir Press
3 1 25 4 50 254 1001
| 2 25 4 Ly | 255 1002
3 25 L7 h2 283 1003
4 25 & 53 3.08 1004
I 25 ] 54 36l 1005
|6 5 10 55 42 1006
7 5 1 b6 457 1007
' g L 12 &7 457 1008
w9 L 14 b b7 1003
10 L 15 59 6,26 1010
1 L 16 &0 6.79 1011
12 L 17 61 735 102 E
3 5 18 62 7596 1013
14 5 17 63 758 1014
15 5 16 64 T 1015
16 L 15 65 6,85 1016
.1 L 12 66 L | 107
18 L 10 67 .07 1018
19 25 3 68 48 1019
20 25 b 69 356 1020
A 25 5 70 374 1021
2 25 5 n 373 1022
23 25 4 72 358 1023 L5
24 25 4 73 363 1024
* -
4| 1 F
Fow ka/sec Air Temp : ArLRV: Air Abs.Hum : Air Pressure :
Lowest 2.5 Lowest 4 Lowest :50 Lowest Lowestit ;1001
Highest -5 Highest :18 Highest :73  Highest : Highest 11024
Average 385 Average (10,10 Average (615 Average 525 Average 110125
11266 - 3= . o‘::A 5 2__5:{9,'55[;
: Block F« ol Ok
0 =By iMAUTHOL SETERY

|'=

Input Condition Air 24 Hour Simulation

Example

To make a Time-depending systeem for different condition
From time > Hour then input Source All Block

From this arithmetic block aline to Source with input Source All
Y ou have now a compleet simulation system

Y ou can change the flow each hour

You useit asinput for Air Conditioing Installation

Made with 4 blocks in a minute



Calculating with auxiliary blocks..

]
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With block temperature 21 value you get from air temperature value

=

Withblock  ©° you can get from air enthal py value

all
] 644 . ) ]
With block you can air massflow inkg/s

Sample mass flow rate * delta enthal py represents power in kW. 2 * 10.14 = 20.28 kW

With REM you can add comments
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First Row : Digital Blocks

E
ke 2 constant value bit
E 1
e W Or 2 inputs
E 1
E <
_ D'C_ .” Or 3 inputs
[k fo
_ _ : And 2 inputs
F
=t
I f o And 3 inputs
=t
£ o Nor 3 inputs
£ o Nand 3 inputs
[k : £ o Exor 2 inputs
: . IR o i 1%,
ke a1 ETonio  Timer Delay On
i : rul;:'lr.RDF.r ; :
oo ofiFk ET°TC  Timer Delay Off
2 ) AT l':"'-. i .
Ck 21 1, £ o Marker 4 inputs
: : 160 <yra j :
Mk £ Marker Out
s 0 0 :
Tk 5 © Pulse
Fo Not



Second Row Arithmetic

eyl 4
Pk £ o Constante
L. 0 . -
o~ fo Sum
I E0E
Lo 5 ’ 'R 3]
B3
_7—&E|o h©  subtract
'(_Ul-'\l i T i p 20
Ed -
ke Multiply
LR 0.8 ' ¥ 08 -
E
el "®  Divide
B &' Tim block
SECk: E O
o output to >
1568 26 %
A s E
1568 Ti Minfc e o Seconds
E o 916 " .
f L : 3 : »  Minute
E
LR "  Hour
f o Interval time
o 4 ":"R 0,84 __
£ o Sine
on 054 0,54 .
Tot f o Cosine
N 2 . 2T
ExP E o Exp

.
£ 71
on ]

¥

@

Base of natural log raised to
specified power

20 Returns the natural (base e)
_logarith of a specified number
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i L J LA .
sl y=7 block: nr= 1004 o o

e -

Write here your own formula example:  2+3°47 2 2 cos[3}+2

or sinf]  x=number input blok
ar (5+10)%

ou can use :

LERS

sinpg] or cos] or tanp] or atnp] |

2+34° 7 T cos[32

N Power

R S
I
Ed
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i
=zmm
o

Write here vour own formula example:
0 ; (5+10)*x x=input from other block

’ Fy I i
.'\u
in
||
sy
Imm
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o8

[T £ o Random number
'L>.<(§N ' " EZ—? Tahle 3*x 3%y linput 1 output
S S 4 ;
Eo Table 21¥*x 21*y 1linput 1 output
T Al - 3000 3000 .
| e £ .. Works onlv with block KG/S
e g o] i %" 1kgfs > 3000 m3/h
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Tahle 3*x 3*y 1input 1 output
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Table 21%x 21*y 1input 1 output
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» Works onlv with block KG/S
~1kg/s> 3000 m3/h

Decimal > % Example 04 > 40%
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Bit block change active input
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' b Lo Trigger block
Ao oo If input > 0 then trigger block

get value input



Third Row Controlling system and water blocks Sources e.g

Ok ; ] &
sl £ Gainz
('_‘;“ . - .R o . )
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Important connection lines
must be directly from Evap to
Heatpump and Heatpump to
Condensor !!IIEIEIEEIEELELL

* =0k5kgls

15kals = Mixing Valve

| “kals



"HEAT/COOC

17°C

ki biigh
E T12%kd
1kais

Heat Regeneration Water

Con Block give value to
Source for Flow

Con block gives value to
Source for Temperature

Con block gives signal to Control
Valve to Open 0,5=50%

Could also be a P Controller etc.

Con block gives value Setpoint
Heat/Cool block



Row 4 : air treatment
o3 : . ':-:-Ntust-:-laR 27Cc Heat Pump air

FLOW ™ DE 23, TRV = &
— "eg121) Important Connection Lines
1:10°C 5 .
°" "% must be direcly from Evap to

" 40 E25kW  Heatpump and Heatpump to
fbuloofS -Jof 952RY Condensor
ST 2377 28,2k
'ooc T gl 5,
Rz 50 & p40% Heat Regeneration Air
+
i )
15T

'°°-: b 'HEATCOOL B o

lbulc £ «7rv  Heat/Cool Block

_':'5:' B _2-152 B i 39.4?.;_'

T TOMOEMEOR T

= T

:l..: h 27 BERV £ -

feeT 43 5kJ Heat Pump air
£ cop - Important Connection Lines

Gooi12270 must be direcly from Evap to
Isl. Fﬂ??ﬁ Heatpump and Heatpump to
T Condensor
Outside you can give

E i Cop value and Power
EEk

to Heatpump



e
Pl

=

irn

Imm

=zmm =Zmm =LE N

=zmm

=zmm
[= 1)
=)
ot}
1]

+ 10 - mBar
1 kals
1023 mBa

=nm
=il
Zn b
b
=
o
)

Source air

cooling Air

Heating air

Humidify Air with Water

or Dehumidify Air

Humidify Air with steam
or Dehumidify Air

Fan Air
Pressure raised

Mixing Air Valve

Split Air Valve

setpoint %RH for
water humidifier

setpoint &hr for
Steam humidifier
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2C Con block give

" 4ygisec value Flow to source

“UC  con block give value

3.4 Temperature to source

Valve to open 0,6=60%
Could also be a P controller

¢ -2C  Con block gives value Setpoint
":iz,  Heat/Cool block



6l weather block: nr= 2736 B=NEEs X

| Hour | nfind m's | Temperature | % BV |Ca‘lc1iat& ﬂrbs| Air Pressure =
[ 3 1 4 -10 50 0.81 1001
2 4 -3 a1 0,58 1002
3 4 -3 b2 1.19 1003
4 4 -4 Bl 1.44 1004
h 4 -2 b4 1,74 1005
6 4 a ah 209 1006
[l 7 4 2 5k 2.45 1007
g b 4 bl 257 1008
9 by g Lt 336 1009
10 & g 59 i 1010
1 6 10 60 457 1011 {
12 6 12 6 h3 1012 =
13 Fi 14 62 6,15 1013
14 7 16 63 71 1014
15 7 18 64 2 1015
16 9 20 65 9.45 1016
17 9 2 66 1086 1017
12 3] M4 67 1246 1018
19 4 26 ) 1428 ms
20 4 28 63 1633 1020
A 3 0 Fii] 1865 1021
2z 3 2 T 2126 1022
2 3 M 2 241 1023 L4
24 3 % 73 2753 1024
* -
< I - v
Windspead : Air Temp Sr LRV Air Abs Hum Air Pressure -
Lowest -3 Lowest --10 Lowest 50 Lowes: : Lowesttt 1001
Highest 3 Hichest 26 Highest 73 Hignest - Hichest 1024
Aversge B Average 13 fverage €1  Average 8,93 Average 10125
PR 2 : : I;JHEA 3 N -8°C
[T e oAHilRk: HER % o E5RV = |
te Block _ ) s_ ) e 2 R, "5 6k Ok

Weather 24 Hour Simulation
Examples

To make a weather-depending systeem
for different condition

From time > Hour then input wheather
Block

From this arithmetic block a line to
Source with input Weather

You have now a compleet simulation
system.

That you use as input for Air
Connditioing Installation Made with 4



-

i g 32PadP Airduct Resistance input diameter and lenght
=z £4.3 miSec
2894 . A 2
e Resistance different "heater etc”
A5 5 / . . s s
s O input diameter and zeta Friction faktor
=~ _@prac®  Resistance Filter input
Fiite 1 0.8 miSec
150 m2 filter and Filter faktor

o Source All block: nr= 3300
i

o

|
Hour |Flowkg/Sec | Temperature | %RV | Calculateﬂbs| Lar Press »
» N 25 4 50 254 1001
2 25 4 5 259 1002
B3 25 5 52 283 1003
4 25 & 53 308 1004
5 25 ] b4 361 1005
|6 5 10 55 42 1006
7 5 11 L3 457 1007
g 5 i2 57 457 1008 |
i 5 14 58 b7 1009
|10 5 15 55 6.26 1010
1 5 16 &0 6,79 1011
12 5 17 61 735 1012 £
13 5 18 62 7596 1013
|4 5 17 63 758 1014
15 5 16 64 721 1015
16 5 15 65 6,86 1016
17 5 12 = LY 1017
. |8 5 10 &7 5.07 1018
19 25 3 68 48 1019
20 25 & 69 356 1020
21 25 b 70 374 1021
|2 25 L7 Fi 379 1022
23 25 4 2 358 1023 B
24 25 4 73 363 1024
T i
€ | 1 3
Fow ko/sec Air Temp : Air LRV : Air Abs Hum : Air Pressure :
Lowest 2.5 Lowest 4 Lowest :50 Lowest : Lowestt 1001
Highest 5 Highest :18 Highest 73 Highest - Highest 11024
Fverage (3,85 Avermge 101 Average 615  Awerage 525 Average 10125
- 11266 3 ' 23 2 Skgisec
¢ Block 52 3 Et&-‘: E EZEEFN Ok




Input Condition Air 24 Hour
Simulation

Example

To make a Time-depending systeem for
different condition

From time = Hour then input Source All Block
From this arithmetic block a line to Source
with input Source All

You have now a compleet simulation system.
You can change the flow each hour.

You use it as input for Air Conditicing
Installation Made with 4 blocks in @ minute

Row 5 : Genera Helping blocks

} %0 different

connection

interfaces

iﬁtiw*
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Row 6 : General Helping blocks Remark block
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New:
Make you own buffer for Load/Unload Energy.

3 states:
O=Load/Unload
1=Load
2=Unload

, 0=Load/Unload
 1=Load

- 2=Unload s . . 5
1 :
hco "y

408

: gs;E' 9 S1dg='c K a.i
£ 0.1kgls - > E 0.05m2 <->
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New nice Excel compatible Graphic see next.

Easily transport data to Excel
Just control athen control ¢
and then in excel control v

Koox: | NrDlock: | Value | NrClock: | Value MrDlock: | Value
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New Air/Water exchanger with input curve.
Easy to make you own Air Handling plant.
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Control Program:

Models Apply:
Choose File and then File open one of the examples.
E.g. Model from folder c: \ hvac_data\hvac
file Humidify.
if jou click with right mouse on the middle of ablock
then become a new form .
Choose block humidifier (block with water drops).
Click under field parameter (default value 2) and givesit
another value 1
and confirmed it with enter. Click afterwards on ok.



Now 1 g/kg is moistened.

When you click with the left mouse on the middle of a block
then you seerapidly the value of the block

you can not change something.

The block left of block-system cool (row 4)

isasource block.(C '% P).

Here can establish you temperature, flow, %rv of air.

Click with the right mouse on the middle of a block source
then becomes there aform.

Click with the left mouse now under parameters on temperature.
The default value 20 stands there changes these in 30 then
Enter key and click on okay.

Now everything going cal culated the outcome after block
moi stening change.

Self making Models:

Making self models:

With the left mouse choose you a block from the library
above to the window.

Click with the left mouse in the middle of the block

hold mouse press and drag the block to

the middle off the window and then drop.

Choose block con. Thisisblock with a constant value.

If you click on thisin the middle of the block with the
right mouse then open aform click under field parameter
and give it 8 and areturn.

Afterwards click on button okay.

Choose another block and give the value 2.

And placeit it under the other block.

Choose now the Sum block and place it Right of the
other blocks.

Now we make a connection between the blocks:

With the left mouse double click in the middle

of block con (now appears a radiobutton right outside of the block) .
Now click on the radio button.Then ancther circle in the radiobutton appears.
Now afterwards double click with the left mouse on

the middle of the block SUM. Also aradiobutton appears.
(when jou make a mistake click in the empty field the
radio buttons disappears).
Click with the Ieft mouse on the radiobutton left from the sum block.
Now aline appears between block CON and connected

to block SUM.

Then make also a connection between block CON

and to SUM.

Now appears number 10 above the block SUM.

If you click with the left mouse on the block

you get also atool tip to see 2+8 =10

Y ou can not connect all the blocks:



Because it is a hybrid simulation.

Row A: Digital Blocks

Row Two: Arithmetic blocks

Row Three: Control order also 1 block etc.

Row Four: Air

Row Five: General help for blocks and connections
Row Six: General help for blocks and connections

Rem Block: Can you give comments.

Well you can using some blocks eg an analog
valueisadigital value.

Eg make between a block and a con highest value block
> X when a connection block con is a number> 20 then
adigital 1 appears at the output of

the highest value block.

Of row 5 so you can get the temperature of an air stream.
Select a source eg first block in row 4 and connect it
with the "thermometer" block row 5.

Then you get 20 degrees filtered.

Do the same with rv block will get 50% rh.

With these results you can count again with computational blocks.

Removing Blocks:

Click with the right mouse button on a block and choose del ete block.
Now the connector automatically removed.

Delete horizontal lines:

Click on Menu Edit then you can click delete Line (checked on).
That means that you can delete line.

Example:

Put a block con and a sum block on thefield.

Make aline between con and sum.

Click with the left mouse on block con after that

click on athe empty place on the field with the left mouse.

The line between block con and block sum disappear now.

Don't forget do click once more on Menu delete line to (checked off).
When you are ready do delete line's.

General:

All inputs are on the left and right output center.

Only marker has 4 inputs and a separate block merker_out the
output of the marker.

Math Functions Block Own Formulay= ?



. - — 3
ol y=7 block nr= 1005 Lﬁlﬂ—hj

Write here your own formula example: 2+3° 4" F Feos[3)+2

or sinp  x=number input blok
ar {(5+10%

You can use

1=

sini] or cosi] or tanp] or atnfx]

Ole
Function Description

Cos Returns the cosine of a specified number (angle)
Sin Returns the sine of a specified number (angle)

Tan Returns the tangent of a specified number (angle)
ATan Returns the atangent of a specified number (angle)
Exp Returns e raised to a power

Heatpump:

To connect connections Heatpump see example:
Choose from folder c:\hvac_data\hvac
heatpump.
Y ou must direcly connect line between evaporator an heatpump also
Heatpump and condenser !

Various Settings:

Can be found under Settings menu.

Interval time
Include interval time in seconds for calculations
simulation.

Tooltip
The time that a Tool Tip appears when the
left mouse click on a block can be set here.
Y ou can also check if it does not want to see
useful if you create a new model.



New Changes:

version 2.41

Bargraph can you make with line to another block

but now also with click right mouse on bargraph block en
giveanr block in.

Advantage you see no lines expactilly in graphic picture.

version 4.76

Rem block :

Beside text you can also received value from a other block.

Right mouse click on the rem block and give the number nr.block in.

And click on ok button.

Also you can make a line now from the rem block to e,g sum block.

Left clicked with mouse radio button appears and then click on the radiobutton

And then click on the sum block .Also a radiobutton appear ,click on it and you have
Connected you blocks Now you can calc with the value from a Rem block.

version 5.51

Pickup >
Blocks>

Put a pickup block into the field.
Put some other blocks into the rectangle
Then with the right mouse
click on take blocks
Now with the left mouse you can
Move all the blocks.
After you find a other place
You can click on ok to
Put the blocks fixed.
Thisis specialy useful if you made alarge model
and large distances to the blocks dragging.



Give setpoint abs humidity

T omps.

v

Tarka
Tgrlkg

6 . g
._ _ " < ~ eg 7 then the air get 7 g/kg
oM T ) )
<

Move
Blocks

Put aMacro block into the field.

Then click on move block then you have put the macro model
On thefield.

Y ou can now also got a picture from map macro

Menu File open background image

Choose a picture from map Macro.

New Scoop Long: For long proces situations
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If you have problems or questions
Y ou can always contact me



Piettadema@gmail .com

Success with this program.



